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2x: p xpy|BYE YL S 0| 85t0f Marzhel 91 hALE (phosphorous metabolites)e] X 2kxi &
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chab o gied: YA Mol XIIRF 133 (ZFXH3; o1 25-31M|) offA  of Xt e EtEtA ol oAl
(@2D-CS)) 7|2 ol&stod zt A2 Meisto PP X7|BuEZes Al#EPch  MREH|=
15-T 717l (Magnetom Vision; Siemens, Erlangen, Germany)& 0|85t 1, 229l XIMollM ARy

ZH 31P MRS I Y E AL3BstAch 2D-CSI 712 TR/TE: 323 msec/3 msecE 3t¥ 1, 40 mme

CHH SN, 1610242 FOVE AMEStct  ZHe| UM AEMED FHUHEHM 4702l &2 (voxel)
& Meistol B3 (Spectra)l& €0 phosphodiester (PDE)2F  inorganic  phosphate  (Pi),
phosphomonoester (PME), » -ATP, a-ATP, B-ATP2| Zti¥ (Lor-fitted area)2l T2 ¢

Il

3, PDE2} Pi, PME2| #tHY¥ g 212t B-ATPRl BATPE th= ti|%(ratlo)a dodct £ PO
o288 pHE E&stich 13¥ef o A

OE

2 7t A2 el FHUIFHxel "Ik PME, 72.77; Pi, 12491 PDE, 1065.9; 7 -ATP, 183.39;
a-ATP, 237.99; B-ATP, 186.020|1Ct. PME/B-ATPE 0.39%+0.07, P/B-ATP= 062+0.12, PDE/B

-ATPE 599£0.04601%1 22, PME/ATP= 0.120£0.02, P/ATP= 0.183+0.03, PDE/ATPE= 1.733%0.06
olxct Hatzte| pHatE 7.1490! Ut
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